=20 HIo{2 =21E 5|= ALIAL
A2y SER
£ 4%/HE /0l

iz

2 E}2l, DIN I1SO 12240-1

L

THE:

5t & AtOI= (D) 6-12 FHAT Y 3|7,

ALO|= (D) 17 B HERH.

: £ ZQIE £ Hlo{d AE F3, o,

7 A REEESIE R =]

PTFE M7 M £8 Hlofd A= Hlo{ 4.

ZCE A= £210|Y HO{R2 HH|7F 2 ¢15. ¢34 X|+= DIN 648
Al2|= Eofl siEHEt.

=M
K L
D
_Q
= N — 1 4
I A5a B1
L
] /L
(o
@ —| >—-—X—% %r
PN
I A
L L1 -
ESRY%

21019 HIOE =21E &= ALIAL &2 El2], DIN IS0 12240-1 A2+ SHR

FEHS HZA 2 Ex %2 A B B1 D D1 D2 DAHHT K L L1 a SW EsE=Z ES3
= zzfs
kN kN

K2084.06 QEEZLIO| LIAF FAZ 3021 5 6 M6 10 13 6 44 10 11 40,5 13 11 3,6 8,15

K2084.08 LEZEZTO| LIA MMz 36 24 5 8 M8 12516 8 6 13 15 48 15 14 5,85 12,9

K2084.10 QELEO| LA FAZ 43 296,510  M10 15 19 9 7 16 20 57,5 12 17 8,65 17,6

K2084.10125 QEZEO| LIA FAZE 43 296510 M10x1,25 15 19 9 7 16 20 57,5 12 17 8,65 17,6

K2084.12 LEEZTO| LIA AL 50 346512 M2 1752210 8 18 23 67 11 19 11,4 24,5

K2084.12125 QELEO| LA FHAZ 50 346,512 M12x1,25 1752210 8 18 23 67 11 19 11,4 24,5

K2084.17 QELTO| LIAF =4y 67 46 10 17  M16 24 301414 25 34 90 10 27 22,4 45

K2084.20 LQEETO| LA [=As 77 53 10 20 M20x1,5 27,5 3516 16 29 40 1035 9 32 31,5 60

K2084.25 QE&ZTIO| LIA =y 94 64 12 25 M24x2,0 33,5 4220 20 35548 126 7 36 51 83

K2084.30 QELTIO| LIAF EtZf 11073 15 30 M30x2,0 40 50 22 22 40,7 56 1465 6 41 66,5 110

K2084.061 2l&Zo| LHAL FAZ 3021 5 6 M6 10 13 6 44 10 11 40,5 13 11 36 8,15

K2084.081 2l&%o| LEA AL 36 24 5 8 M8 12516 8 6 13 15 48 15 14 5,85 12,9

K2084.101 2I&Fo| LEA AL 43 296,510 M10 15 19 9 7 16 20 57,5 12 17 8,65 17,6

K2084.101251 2l ol LEAL FAZ 43 296,510 M10x1,25 15 19 9 7 16 20 57,5 12 17 8,65 17,6

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 1/2



°
=clo|El Hi|01E°l OlE 5||=E QILIAL, S22 EIR, DIN ISO 12240-1
SAEE: ST
=E ROI:
=S HS HX 2 ExXE A B B1 D D1 D2 D3HHT K L L1 a SW EstE=Z Es5=2
5| Ehs
kN kN
K2084.121 2l&ZFol LEAE FAZE 50 346512  M12 1752210 8 18 23 67 11 19 11,4 245
K2084.121251 RIEZOo| LEAL FAZE 50 346,512 M12x1,25 1752210 8 18 23 67 11 19 11,4 24,5
K2084.171 el&zho| LEAL =y 67 46 10 17  M16 24 3014 14 25 34 90 10 27 22,4 45
K2084.201 2l&zro| LEA = 77 53 10 20 M20x1,5 27,5 3516 16 29 40 103,5 9 32 31,5 60
K2084.251 2l 0| LEAL =¥y 94 64 12 25 M24x2,0 33,5 4220 20 35548 126 7 36 51 83
K2084.301 el&zto| LEAE EtZ 11073 15 30 M30x2,0 40 50 22 22 40,7 56 146,5 6 41 66,5 110

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/2



